- DBC210 Page No... 1

Third Year BBM Degree Examinations
August / September 2010
Directorate of Correspondence Course
COMMERCE
(Freshers)
Managerial Statistics

Time: 3hrs.] [Max.Marks : 80

I

SECTION-A Qyon - &

Answer any THREE questions Each carries 5 marks :
cinRmence Swedh IBROR L3O, IUe 5 LOTNT: 5 x 3=15 Marks

1. What are the requisites of a good average?
¢OZF XHoPROR e3eToT WA, LOINTOYHR)?

2. What is skewness? What are the tests of skewness?
LRZZ 20TBeD? OHFI0D TOeFNTOHR)?

3. Define correlation. Mention the propertigsof correlation coefficient.

ATHOWOR T8, BRR. ABHOWE TONOTBE TOroOFRNYAD, 39A.

4. From the following data. Compute the Harmonic mean.
8 3INT TANVOT HSo0TT FTOFOORT, FORLBWD.

X:|15[250|15.7 | 157 | 1.57 [ 105.7 | 10.5 | 1.06 | 25.7 | 0.257

5. Represent the following data by a simple bar diagram.
3 39NS ©OIRYOT XOY Ve WA,

Item Expenditure (Rs)
Food 87
Clothing 24
Recreation 11
Education 13
Rent 25
Miscellaneous 20

SECTION-B Qgon - 0

11. Answer any TWO questions. Each carries 10 marks :

OIRYTRTCR AT gﬁdﬂ';ﬁ Z0n. 3R 10 wosnw: 10 x 2=20 Marks

6. Define statistical investigation. Explain the necessary steps to be taken in planning a

statistical investigation.
To0oNT 3B méajé 300, ToNT IABoE, odeeEIN N ACT AN DDA

NI, ITOR.
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What do you mean by statistical quality control? What are the advantages of statistical

quality control?

- FOsTY Moresdtl OO D0TIEW? BTV LuTodReRNTRT)?

Calculate Bowley’s coefficient of skewness from the data given below.
81 391 BRLIT0E woBnNYor RST QBT DHFZONT, FOBEBCWO.

Wages (Rs.) | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100
320 (BRnvd)

No. of persons 1 3 11 21 43 32 9
S3ne Toas,

The height X (cms) and weight Y (kgs) of a six students are as follows:
S ATPFNY DIT (F0. W) ) 68 (3.2.) 81 F¥BoBEOST.

X:| 153|157 | 168 | 160 | 170 | 163

Y:[48 [50 [50 [49 [54 |53 |-

Obtain the two regression equations. Also find the expected height of a student whose

weight is 60 kg.
Q0 LOBOTD mbacﬁdmﬁ'ﬁmal FOBLBOWO TF, 3wF 60 .28, ‘aCéd‘. oe3s QBT

FOTRE&GRCWND.

SECTION-C Q»n - 2

III Answer any THREE questions. Each carries 15 marks :
CIRTTTTR IR TFYR ¢v3dr. Iwo 15 WO 15 x 3=45 Marks

10.

11.

Define statistics. Explain the functions, limitations and distrust of statistics..
NOLRTOIT w2l BRB. NOTORT FOORFTIVD VMW B BTTOVFORT, VWOA.
) ) =

a) What are the rules of Tabulation? Mention the parts of a table.
TEEETOT AODTONTITT? TLEITRT SOTNYR, S04

b) What is consumer price Index? What are its uses?
ReRT 3 RRUWOT QOTTER? WTT wwmodeenvon)w?
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Calculate the Mean, Median and Mode from the following data.
B $YNT TJVOBMLOT VET, NBONT B, BReBET), FOBELANWD.
Age SoDRY 55-60 | 50-55 | 45-50 | 40—-45 [ 35-40 [ 30-35 | 25-30 | 20-25
7 13 20 30 33 28 14

No. of Apples
STORY 80,

15

The following table gives the number of students having different heights and

weights.

8y 3903 T RY AWHFNY 2T NB) 3RTII, BRBOINT.

PZT(F0.e08) Weight in Kgs. 803 (8.23.)

Height in cms | 55.60 | 60-65 | 65-70 | 70-75 | 75-80 | Total
150-155 1 3 7 5 2 18

155-160 2 4 10 7 4 3y

160-165 1 5 12 10 7 35

165-170 - 3 8 6 3 20

Total 4 15 37 28 16 100

i) Find the co-efficient of correlation between the heights and weights of the students?
2T DB BRIAVTSI ABHOLOGBORT, FOBLRCWO.

i1) Find probable error

HoLRs, d.mea'imaad FOR&GLACWD.

14.Compute Fishers Ideal Index from the following data and show that it satisfies time

reversal test and factor reversal test.
& IYNT TIOI maméoﬁri@od S3T0T RO ziraaaaéoﬁd Rws é‘.‘)dadg BWo1T

wbeﬁ WP, @oI m‘beﬁoﬂa&aﬂl FOBIEROND.

2008 2009
Commodities | Price (in Rs.) | Value (in Rs.) | Price (in Rs.) | Value in (Rs.)
A 10 1000 12 1440
B 12 960 15 2550
C 11 2420 10 2550
D 16 256 18 324
E 20 3240 24 4800
F 5 500 6 660

¥ ok o ok 2k
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